MBIV ohbstb)VED &) 227-2%L0 %9,

60 Tch0EBI VYRS Toc50%BzHLFUFUL
AENITE 2 AENIE ?

60 | Tnex

© 40 + 6 = %4 @50+ 7= o3 1

@ 16 = 6 = - 4 @ 225 + 7 = e 4

©) 255 + 6 = -1 ® 15 =7 = e

@ 35 +6= w5 @ 4] +17 = . b

® 4] + 6 = .5 ® 58 +7 = o 2

@ 21 = 6 = -3 @45 7T = e 3

® Hh2 + 6 = 4 ® 37 +7 = e 2

@ 7 + 6 = -3 ® 1N =7 -= 4

50+6= e 2 @47+7= .

B> A Xz2FL 9,

W DbE—=<2%6Z2FT55.( 5|C
WHNTWEF T, 62NN DIL AT
WAZTEETN?

A\)

6DERLTDER
(LN TRALEES...

/’fﬁ\
YA HHT
&ﬁot&m_/>

® 10 + 6 = 4 ® 2 + 7T = v b E 2

— f: Z) /D\J\A - Y https://gampuri.net/



	スライド 168

